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The Snowman /

Snowman 1 Snowman 2 Snowman 3

1. The hat of the left showman is brown.

2. Next to the brown hat are a yellow nose and a blue broom.
3. The snowman with the yellow nose has not got a black hat.
4. One snowman has got a green hat.

5. The snowman with the black hat has not got an orange nose.

6. One snowman has got a red nose and a purple broom.

Which snowman has got a grey broom? It is snowman number

broom — Besen hat — Hut

the left snowman — der linke Schneemann next to — neben
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Flowers A‘/ A‘/

. There are four red flowers in bouquet number one.

. In the bouquet with the four yellow flowers are two pink flowers.

. Next to the two brown flowers are four orange flowers.

. The three blue flowers are not next to the four orange flowers.

. Next to the four red flowers are three green flowers and two blue flowers.
. In one bouquet are four purple flowers and two brown flowers.

The four yellow flowers are not next to the two blue flowers.
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Next to the four orange flowers are three pink flowers and two purple

flowers.

In which bouquet are three yellow flowers? They are in bouquet

number

bouquet — Blumenstraul} with — mit

next to — neben are not — sind nicht
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